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fd

( <))
Life-table

(1)

(2)

(A | 4.1 4.3 -1 1
(ty) L Product-Limit (FL)

; Cox's regression model

Product-Limit (PL)

J:Tj<t
) 1 - dd)
11 T L' T
L L T
J|_]_ 2(t ) >0.00 (t 11) < 0.C
"Life-table
- k »
SE = 1l b,
i=1
P1 - (1- (1u2)-d1)/( 1-(112))
Lo . 1
<11 r o1l
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A tm = tJd o+ ((S(tj)-0.50)/(S(tj)-S(tj+1)) (tI+1-tt)
S(tj) > 0*50 set ) < 0.50
(3) Cox's regression model
1(t:211) = Oct) 1
2( :211) = So(t)eBl 2

0() = exp (- / ho( )d)
ho(t) = dJ((t3t3 1) . Ged 6): tj1<t <t

() = 0.50 50)

Cox-Mantel test

=~

1 = E {dm ( (0-d(0)/( tl)-D) CAO (1-A(0)
i=1
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(fl) 50
1 2

3L)! G0 Aniud oIf ' (%)

10 20 70 10 20 30

PL 7.75 8.81 10.45 706 832 9.4
(11.83)  (27.13)  (50.79) (10.13)  (20.06)  (40.55)

A 789 8.9 10.47 7.80 52 82
(13.35)  (23.72)  (5108)  (12. )  (22.94) (41.70)

X 7.20 G 9.D1 731 7.97 9.22

(476) (21.21)  (38.67) (5.48)  (15.01) (33.04)

PL = Product-Limit method
AC - Acturial method
QOX = Cox's regression model
tu | m £5
1 (%)



2 ‘ 1!
(- 10, 30, 50

() Product.-Limit

1
§1'] " LI (%
10 2 30
323 3,01 10, 04
(34.05) (33.07)  (53.54)
15 874 350 11.25
(26.12)  (37.09)  (62.34;
2% 775 8481 10.45
(11.33)  (271.13)  (50.79)

|

10

9.20

(32.76)
8.58

(23.81)
7,66
(10.53)

10.04
(53.54)
3.70
(33.97)
b. b
(20.00

13.23
(30.91)
11.80
(70.27)
9.74
(40.55)



()

10

.50

( 7.09}

15 .cU

(26.93)

25 7.89

(13.85)

tLife-table

9.53

(33.56)

9.99

(44.16)

§ *92

(23.72)

49

20

10.71

(54.55)
11.58

(67.10)
10.47

(51.03)

Wi O L M

.35
«J ]
9.89
(42.71)
7.80

12 GG)

20

11.14

(60.75)

10.00

(44.30)

(22.54 >

)

30

13.32

(92.21)

11.86

(71.14).

3.32

(-,1.70)



50

() JU Cox's regression model

TINAM 1 2
('L rooe - (t)
10 20 20 10 20 30

5 7.76 cu 5.96 7.82 8.99 10.23
(11.98) (117.32) (29.29) (12.84) €hd. @)  (4-3.34)

15 7.84 0.98 10.57 5 .24 8.97 10.41
(13.13) (29.58:- (52.53) (18.90) (29.44) (50.22)
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(4.76) (21.21) (38.67) ( .43) (15.01) (33.04)
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